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Question Number : 1 Question Id : 2549896602 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What will be the result if tOGGLE cASE is applied to the word ‘Examination’ in MS-Word 2019?
Options:

1. # examination

2. % Examination

3. ¥ EXAMINATION

4. ¥ eXAMINATION

Question Number : 1 Question Id : 2549896602 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

gfe Taug gs (MS-Word) 2019 #, ‘Examination’ 216 IR tOGGLE cASE 31wATs feham SITar 8, ot e ufkoms ghm?
Options:

1. % examination

2. % Examination

3. ¥ EXAMINATION

4. ¥ eXAMINATION

Question Number : 2 Question Id : 2549897543 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A___ isasetofinstructions that makes the computer perform a task.
Options :

1. # hardware

2. % program

3. * monitor



4. % system

Question Number : 2 Question Id : 2549897543 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

, SEF P Uh T & STl heR i IS T et o forg U hear &1
Options:

1. % gr&amw

2. ¥ uum

3. % #HieR

4, ® {wen

Question Number : 3 Question Id : 2549897705 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FAT stands for ___ Allocation Table.
Options:

1. ¥ File

2. * Frame

3. # Field

4. # Folder

Question Number : 3 Question Id : 2549897705 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FAT@I o Qellhed &t i
Options :

1. ¥ File (wr5a)

2. % Frame (%9)

3. ¥ Field (hiee)

4. % Folder (wieeR)

Question Number : 4 Question Id : 2549898840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The' "World Wide Character Standard uses up to 4 bytes (32 bits) to represent each letter,
number or symbol.
Options:

1. % EBCDIC (Extended Binary Coded Decimal Interchange code)



2. % ASCII (American Standard Code for Information Interchange)
3. ¥ Unicode
4. # Extended ASCII

Question Number : 4 Question Id : 2549898840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: ' Ies T3S bk Wes (World Wide Character Standard) Ucieh 31&R, TeT AT Udieh @t 11 & folg 4
T8¢ (32 foed) deh 1 IUTNT ST B

Options :

1. % EBCDIC (JoRESS T15Y hiSS SHHA $exaS diS)
2. % ASCII (3MReh WS e BR SHIAI §ex=io)

3. ¢ gfAats (Unicode)

4, % ggwde ASCII (Extended ASCII)

Question Number : 5 Question Id : 2549899332 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What type of device is a scanner?
Options:

1. ¢ Input

2. % Storage

3. # Processor

4. % Output

Question Number : 5 Question Id : 2549899332 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ThR fohd TR T IUAIT 82
Options:

1. % 39q¢

2. ¥ &Ra

3. ¥ g

4. # 313eye

Question Number : 6 Question Id : 25498911560 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Output devices make it possible to



Options :

1. ¥ view and print data
2. % scan data

3. # input data

4. * send data

Question Number : 6 Question Id : 25498911560 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3T3eye feargq AW s=rd 81
Options:

1. ¢ a1 &g AT 3R flie zn

2. ® 31 Th AT

3. ® 31 Y FHAT

4, ® 3T S hAT

Question Number : 7 Question Id : 25498919043 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which file of software packages is/are responsible for dictating how the software behaves
under different circumstances?

Options:

1. # Libraries

2. ¥ Configuration files

3. ¥ Executable programs

4. % Documentation Files

Question Number : 7 Question Id : 25498919043 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

GiFeaaR Gehet &l -t thigel/wiga ag ReiRd oeq & g Ser gidt &/2 o afvedmr fafas uRfafaat & forg awg
3{TIRUT ShidT &7

Options:

1. % Frss¥t (Libraries)

2. ¥ R Wisa (Configuration files)

3. #® ufesergeas U™ (Executable programs)
4. ® SfegHee gl (Documentation files)

Question Number : 8 Question Id : 25498922565 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

During the Mail Merge process, which of the following documents in MS-Word 2019 contains
the basic text that is the same in all of the output documents?

Options:

1. # Recipient list

2. % Labels

3. ¥ Main document

4. % Data Source

Question Number : 8 Question Id : 25498922565 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 7ot (Mail Merge) T & &RM, TAUE g (MS-Word) 2019 #, A= 7 & forg Siagde # affien dawe giar & 5t @t
3T3TYC SIFgAC H THH giaT 8?

Options:

1. % IJfude feree (Recipient list)

2. % J9« (Labels)

3. ¢ 849 SiegHc (Main document)

4. % 31T (Data Source)

Question Number : 9 Question Id : 25498929859 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a way to insert a formula in MS-Excel 2019 worksheet?
Options :

1. # Typing a formula inside the cell.

2. % Using the Insert Function option from the Formulas tab.

3. # Selecting a formula from one of the groups in the Formula tab.

4. ¢ Inserting a function from the Home tab

Question Number : 9 Question Id : 25498929859 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

71 & @ FH-91, TIYE e (MS-Excel) 2019 aehsiie # TIHeT $IE i hl diichl Tal 872
Options:

1. ® Tl o 3R BIHAT T3T AT

2. % hiHdT 9 9 39 e fdehed et IUATT el

3. ® whifer &g # fohell ok U O WiHAT dolae e



4, + g9 ¢ T tharH 39¢ el

Question Number : 10 Question Id : 25498930074 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid MS-Excel 2019 function?
Options:

1. % SUM

2. % SUMIF

3. ¥ SUMADD

4. % SUMPRODUCT

Question Number : 10 Question Id : 25498930074 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAafaf@a & 9 s=-a1 tIug gedd (MS-Excel) 2019 thasM AT Tai 87
Options:

1. % SUM

2. % SUMIF

3. ¥ SUMADD

4. ¥ SUMPRODUCT

Question Number : 11 Question Id : 25498930309 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What will be the output of the MS-Excel 2019 short date formula '=DATE(2020,8,31)'?
Options :

1.9 8/31/2020

2. % 08/31/2020

3. % 08-31-2020

4. % 31.08.2020

Question Number : 11 Question Id : 25498930309 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TIUH Y (MS-Excel) 2019 #, «ifE 8¢ WiHat '=DATE(2020,8,31)" T 3TSTYC T §RIT?
Options:

1. % 8/31/2020

2. % 08/31/2020



3. * 08-31-2020
4. % 31.08.2020

Question Number : 12 Question Id : 25498930897 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the keyboard shortcut for the ‘Save As’ option in MS-Word 2019?
Options:

1. % F10

2. # F9

3.¥ F12

4. % F8

Question Number : 12 Question Id : 25498930897 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THTY g8 (MS-Word) 2019 H, ‘Save As' & fdahed & o A= & @ i-a1 ShIals iféhe 87
Options:

1. % F10

2. % F9

3. ¥ F12

4, # F8

Question Number : 13 Question Id : 25498931010 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are the minimum and maximum zoom levels in a zoom slider of an MS-Word 2019
document?

Options:

1. % 10% and 500%
2. % 1% and 500%
3. % 10% and 600%
4. % 100% to 1000%

Question Number : 13 Question Id : 25498931010 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TIUH g€ (MS-Word) 2019 #, SierfHc & SIH Wges # fAfaaa ok AfRms Sm dd fohawr gian 82
Options :



1. ¥ 10% 3R 500%
2. % 1% 3R 500%

3. % 10% 3R 600%
4. % 100% & 1000%

Question Number : 14 Question Id : 25498931055 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to move the active cell to the first column on
the current row in MS-Excel 2019?

Options:

1. ¥ Home

2. % Ctrl + Home
3. * Page up

4. % Page down

Question Number : 14 Question Id : 25498931055 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THUY Uadd (MS-Excel) 2019 #, ufaed 91 ot e A (row) & Ugat hietd (column) & & ST & forg A & & g
RIS 2AfEehe 1 ITTNT fohar STaT 82

Options :

1. ¥ Home

2. % Ctrl+ Home
3. * Page up

4. % Page down

Question Number : 15 Question Id : 25498931439 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which printer is very commonly used for desktop publishing?
Options:

1. ¢ Laser printer

2. % Line printer

3. # Daisy wheel printer

4. * Dot matrix printer

Question Number : 15 Question Id : 25498931439 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

S%helT gfeifiT (desktop publishing) & forg forg fiiex o1 e iferes IuaiT fohar STrar 82
Options :

1. ¥ doR fiiex (Laser Printer)

2. % g4 fiiex (Line printer)

3. # Soft gt fiiex (Daisy wheel printer)

4, % 3ie Af¢aa fiiex (Dot matrix printer)

Question Number : 16 Question Id : 2549897795 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the meaning of OSI in terms of Computer Networks?
Options:

1. ¢ Open Systems Interconnection

2. # Open Software Interrelation

3. # Open Software Interconnection

4. # Open System Interrelation

Question Number : 16 Question Id : 2549897795 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HYR AT & e H, OSI <1 T Y 82

Options:

1. ¥ Open Systems Interconnection (371 %A SexhaM)
2. % Open Software Interrelation (31U GftedaR 3IRAH)

3. # Open Software Interconnection (37U TR ATR FeRh-aRM)
4. % Open System Interrelation (37o= fkew 3exRaeH)

Question Number : 17 Question Id : 2549899508 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following cables is necessary to start printing jobs?
Options:

1. # Power cable and Internet cable

2. % Power cable CAT6 cable

3. ¥ Power cable and USB cable

4. % Power cable CAT5 cable

Question Number : 17 Question Id : 2549899508 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fiféT e & e o foig Afefa F & onla-dt ohaer smasaes gidl 82
Options:

1. ¥ OfaR Shad 3R e3¢ chad

2. ¥ YR hael CAT6 hald
3. ¥ UfaR chael 3k USB halcd

4. % iR dhad CATS had

Question Number : 18 Question Id : 2549899521 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of printer in which the complete shape of each character of the
repertoire is engraved or molded onto a font carrier?

Options:

1. # Laser

2. ¥ Solid font
3. # Inkjet

4. % Thermal

Question Number : 18 Question Id : 2549899521 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfefEa & @ ola-41, fliex &1 Ten TU1 IR &, foias U= gt (repertoire) & Ucich 31&R T X1 STThR ThIwC chiRaR
TR IRT T STeT ST 872

Options :

1. ® ISR (Laser)

2. ¥ gifers Wi (Solid font)
3. % Zavic (Inkjet)

4. % qia (Thermal)

Question Number : 19 Question Id : 25498910861 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The printed copy of a document is referred to as a:
Options:

1. #* soft copy

2. ¥ hard copy

3. #® thermal copy



4. % temporary copy

Question Number : 19 Question Id : 25498910861 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fordt Stagre di Figa ufd ot A 7 @ fovg w0 o defiq forar sirar 82
Options:

1. % dfte Sidl (soft copy)

2. ¥ grd &idl (hard copy)

3. ¥ et prdY (thermal copy)

4, % TR Sidt (temporary copy)

Question Number : 20 Question Id : 25498911122 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1 terabyte is equal to how many gigabytes?
Options:

1. % 256

2. % 512

3.¥1024

4. % 2048

Question Number : 20 Question Id : 25498911122 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
1 &aTse foham TihTTemse & sRTeR 872
Options :

1. % 256

2. % 512

3.¥ 1024

4. % 2048

Question Number : 21 Question Id : 25498911222 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A microphone changes sound into:
Options:

1. # alight signal

2. % a wave signal



3. # a mechanical signal

4. ¢ an electrical signal

Question Number : 21 Question Id : 25498911222 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
HATSehIthiA, @l t # SgeAdT 81
Options:

1. % drge {raa

2. # g f{=a

3. ® d%fAd e

4. & gAfergehct et

Question Number : 22 Question Id : 25498913421 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a fixed-sized piece of data handled as a unit by the instruction set or
the hardware of the processor?

Options:
1.+ Word

2. % Bit

3. ® Memory

4. % System

Question Number : 22 Question Id : 25498913421 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fafafed 7 @ aF-a1, T 31 &1 fha 918 aren 119 (fixed-sized piece of data) g, S &gar™ de a1 HAR &
BIEATR GIRT T JPI3 o ©U | g&cf fohaT STTaT 872

Options:

1. % g (Word)

2. % f3e (Bit)

3. % AARY (Memory)
4, #% fdxH (System)

Question Number : 23 Question Id : 25498913500 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
graphics can be scaled to any size without losing quality.



Options :

1. ¥ Vector
2. % Raster
3. # Master

4. % Computer

Question Number : 23 Question Id : 25498913500 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TTftherg ont granferél @iy famm, fopeft oft srerR & Thet fobar ST gepar 81
Options:
1. ¥ deex (Vector)
2. % & (Raster)
3. # #AReR (Master)

4, # &g (Computer)

Question Number : 24 Question Id : 25498913832 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In symmetric cryptography, a/an is a piece of information or a framework that is
used to decrypt and encrypt messages.

Options:

1. # general key
2. % public key

3. # alternate key

4. ¢ secret key

Question Number : 24 Question Id : 25498913832 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

gAfAd fehetardht (cryptography) #, T i I SHTth SRIARM IT his Thaddh 8, [Sigent IuahT A4S i
fefore 3k ufeohe &t & forw fomar StraT g1
Options:

1. # S=Ra &1 (general key)

2. ¥ gfsra &t (public key)

3. # 3 & (alternate key)
4, « Hiche &t (secret key)

Question Number : 25 Question Id : 25498922642 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a dll file is missing in the Windows operating system, which of the following actions is
appropriate?

Options:

1. ¢ Run System File Checker Command

2. % Run System File Clone Command

3. # Run disk defragmenter Command

4. % Clean hard disk Command

Question Number : 25 Question Id : 25498922642 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

g fastsr SifRfé e # @ &t dll wrse Afd g, at 7 d & &H-38 g Iugeh git?
Options:

1. ¢ ROeH higd I HHTS A B

2. ¥ fU%H WI3d Tl RATS T B

3. ¥ 3% SR wATS T A

4, ¥ g gre St e T s

Question Number : 26 Question Id : 25498924063 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to snap a selected window to the left half of
the screen in the Windows 11 OS?

Options :

1. ¢ Window key + left arrow key
2. % Window key + right arrow key
3. #* Window key + CTRL key

4. % Window key + ALT + CTRL key

Question Number : 26 Question Id : 25498924063 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Windows 11 OS # Thi & a1d 3el »mT & =afad fdet &) o & & forg A & @ fovg HiatS Qiféene &t Iuah faman
SIar 82

Options:

1. ¢ fdSier &t + e G &t (Windows key + left arrow key)
2. % fdSet i + ge W bt (Windows key + right arrow key)
3. # fJsisr &t + Ctrl it (Windows key + Ctrl key)



4, # fdSst ot + Alt + Ctrl &t (Windows key + Alt + Ctrl key)

Question Number : 27 Question Id : 25498924307 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following dynamically provides dynamic instrumentation of both user/kernel
functions in Windows OS?

Options:

1. * DLocate
2. ¥ DTrace
3. * DMap
4. # DAdd

Question Number : 27 Question Id : 25498924307 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fFefered # @ spi-ar, faetst 3itud (Windows OS) # R /dhiel ther &1 hl STaTHeh SEH UaT Shidl 62
Options:

1. = DLocate

2. ¥ DTrace

3. * DMap

4. % DAdd

Question Number : 28 Question Id : 25498924453 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the protection system call of UNIX?
Options :

1. % chmod()

2. % umask()

3. ¥ protect()

4. % chown()

Question Number : 28 Question Id : 25498924453 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fmfofad 7 @ i9-31, UNIX o1 gRer [%ed &id 781 8?
Options:

1. % chmod()



2. # umask()
3. ¢ protect()
4. % chown()

Question Number : 29 Question Id : 25498924589 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Windows 10, an Apple QuickTime movie file has the extension.
Options :

1. ¥ .mov

2. % .amf

3. % .mf

4. % am

Question Number : 29 Question Id : 25498924589 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fdsist 10 (Windows 10) #, Yuret faaehersd (Apple QuickTime) TR BISA R YR giar 8l
Options:

1. ¥ .mov

2. % amf

3. % mf

4, % am

Question Number : 30 Question Id : 25498940430 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of defects in a particular software is given by which metric?
Options:

1. ¢ Defect density

2. ®* Defect removal rate

3. # Coverage metric

4. % Mean time failure

Question Number : 30 Question Id : 25498940430 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fordt fasty Aftredar , fethae i T forg Afeer grr & St 82
Options:



1. ¢ fSthae SRIE (Defect density)

2. # fSthae Rygae & (Defect removal rate)
3. # avs B (Coverage metric)

4. % i 2139 thferR (Mean time failure)

Question Number : 31 Question Id : 2549896981 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The internetis

Options:

1. ¢ alarge network of networks

2. % aninternal communication system for a business

3. # a communication system for the Indian government

4. % a communication system for some states of India

Question Number : 31 Question Id : 2549896981 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
gee giaT/Eled 81

Options :

1. ¢ Jcaahl ol U FST Aeach

2. ¥ fhd} coaarg & fog Tk Sriaes Gar goTreft
3. ¥ R WHR & T Tep TR HoTTet!

4. # 9Rd & S 4] & Y Yo GIR YoTTedt

Question Number : 32 Question Id : 2549898951 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is meant by a newsgroup?

Options:

1. % An online discussion forum

2. # Aplace where large files can be transferred between a computer and user
3. # Internet telephony services

4. #® Voice over Internet protocol

Question Number : 32 Question Id : 2549898951 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
<IST IU (newsgroup) T 37 T 8?2



Options :

1. ¢ Qo AiAeTe ol 59

2. % U U1 W TTg1 I8! TISal hl hgex 3R IoR o &g g-HhR [ohaT ST HehdT &
3. ¥ Fee TRl Qard

4. ® gigq R T Uidiehlel

Question Number : 33 Question Id : 2549899072 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With reference to data encryption over the internet what is the full form of DES?
Options:

1. # Data Encryption Standard

2. % Digital Encryption Standard

3. # Digital Evaluation Standard

4. % Digital Established Standard

Question Number : 33 Question Id : 2549899072 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3T WR ST Qf=hwed & Hef d DES a1 quf &9 -1 872
Options:

1. ¥ Data Encryption Standard (SeT gf=heH ¥S$ )

2. % Digital Encryption Standard (f$fSiea Thim ¥es)
3. # Digital Evaluation Standard (ffSieet 3degusH wWed)
4. % Digital Established Standard (f8fSieet TRfeite W)

Question Number : 34 Question Id : 25498910743 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to display the Replace dialog box, to find
and replace text, specific formatting or special items in MS-Word?

Options:

1. % Ctrl+P
2.¥ Ctrl+H
3.% Ctrl+S
4. % Ctrl +

Question Number : 34 Question Id : 25498910743 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

fFafafed 7 @ pH-8 i Qiicae &1 IuahT THTg-as (MS-Word) § dawe, @iAfthes wiafeT a1 Were 3mged &t
TrEs 3R Rerg & & folg, Reta sr«i dfed ot feaet et & forg fehar sirar 82

Options :

1. % Ctrl+P
2.9 Ctrl+H
3. % Ctrl+S
4, % Ctrl+]

Question Number : 35 Question Id : 25498911680 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The full form of DoCoMo is

Options:

1. #* Do Connect Over Mobile

2. ¥ Do Communications Over the Mobile Network
3. # Dongle Communication Over Mobile

4. * Do Communication Or More

Question Number : 35 Question Id : 25498911680 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

DoCoMo T guf %1, =

Options:

1. # Do Connect Over Mobile (g & 3R AleEA)

2. ¥ Do Communications Over the Mobile Network (g hRIAd 3HteR & AlaTgd Aeddh)
3. # Dongle Communication Over Mobile (SITeT HRIAHA 3HteR HiaTSa)

4. ®# Do Communication Or More (g &I AR AR)

Question Number : 36 Question Id : 25498913339 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a temporary storage area for data that the user wants to copy from
one place to another in MS-Word?

Options:

1. # Task bar

2. % Zoom control
3. ¢ Clipboard

4, % System tray



Question Number : 36 Question Id : 25498913339 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfefEa & ¥ ol9-a1 39 a1 & oy gen Tt wikst gRaT (temporary storage area) 8, o€ goR tATE-a€ (MS-
Word) H Ueh T & g&R W WR iUl &A1 18T 872

Options :

1. ® 2Reh IR (Task bar)

2. % 3 gl (Zoom control)

3. ¢ faeetE (Clipboard)

4. % fJxw ¢ (System tray)

Question Number : 37 Question Id : 25498919179 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to open the Print window in MS-Word 2019?
Options:

1. % Ctrl+ N

2.9 Ctrl + P

3. % Ctrl +S

4, % Ctrl+F

Question Number : 37 Question Id : 25498919179 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TATE-aS (MS-Word) 2019 # fiie faet @len & forg f=ifaifad 7 @ forg et 2iiene a1 IuaiT fohar ST 82
Options:

1. % Ctrl + N

2. ¥ Ctrl +P

3. % Ctrl +S

4, # Ctrl+F

Question Number : 38 Question Id : 25498919210 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

can be categorised into desktop, laptop, hand-held and tablet computers.
Options:
1. ¥ Microcomputers

2. % Minicomputers



3. # Mainframe computers

4. % Super computers

Question Number : 38 Question Id : 25498919210 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
! SWReY, AT, 8-S 3R Taeie heR A aiffgd fohaT ST eha 3
Options:
1. ¥ A13eh hgeR (Microcomputers)
2. #® At R (Minicomputers)
3. #® AthA %hgex (Mainframe computers)

4, ¥ gR R (Super computers)

Question Number : 39 Question Id : 25498925233 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How many layers are there in the internet protocol stack?
Options:

1. # Eight

2. % Seven

3. % Six

4. ¥ Five

Question Number : 39 Question Id : 25498925233 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ge3e Uleidial € (internet protocol stack) & forat R gidt 82
Options:

1. % 315

2. % g

3. % Bg

4. ¥ Ui

Question Number : 40 Question Id : 25498925263 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TCP stands for

Options :

1. # Transfer Control Protocol



2. % Transmission Control Protocol
3. ® Transmission Creation Protocol

4. # Transfer Create Protocol

Question Number : 40 Question Id : 25498925263 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TCPaIgof®Ey, Bl

Options :

1. ¥ Transfer Control Protocol (SR chelel Uietehler)

2. ¥ Transmission Control Protocol (SiafA*M shelet Hieiaid)
3. ¥ Transmission Creation Protocol (giafaz™ fehusr tietepien)
4. % Transfer Create Protocol (2R fohge Uietepien)

Question Number : 41 Question Id : 25498925319 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was the first ever search engine developed?
Options:

1. #* Yahoo!

2. % Bing

3. # Google

4. ¥ Archie

Question Number : 41 Question Id : 25498925319 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ffeiRad & & ohi=-a1 e §oi Fad Uget faenferd fehar mar ar?
Options:

1. * Yahoo!

2. * Bing

3. ¥ Google

4. ¥ Archie

Question Number : 42 Question Id : 25498933789 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Central Processing Unit (CPU) is also referred to as the of a computer system.
Options:



1. % brain
2. % heart
3. ® eyes

4. # hands

Question Number : 42 Question Id : 25498933789 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Yoot WA gfae (CPU) dl g Rieea s ot swgr sirar 81
Options:

1. ¢ gftash (brain)

2. # gag (heart)

3. % 97 (eyes)

4. % grg (hands)

Question Number : 43 Question Id : 25498938407 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A is the most popular pointing device that is used to point to different objects on the
monitor.

Options :

1. ¥ mouse
2. ® printer
3. #® scanner

4. % web camera

Question Number : 43 Question Id : 25498938407 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e AR aigfi fearsy €, foreehr IuahT Affer WR fafea siissiaey ol Ufge seat o fory foram STrar &1
Options:

1. ¢ #1839 (mouse)

2. % fiiex (printer)

3. ® @R (scanner)

4. % 39 =T (web camera)

Question Number : 44 Question Id : 25498942479 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



In MS-Excel, the notation to refer to rows in a spreadsheet is
Options:

1.41,2,3

2. % A, B, C

3. % A1,B1,C1

4. % 1A, 2B, 3C

Question Number : 44 Question Id : 25498942479 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THTY-Uaad (MS-Excel) &, @efic A (row) sl =esq & Teffa fasar smar 81
Options:

1.91,2,3

2. % A B,C

3. % A1,B1,C1

4. % 1A, 2B, 3C

Question Number : 45 Question Id : 25498942483 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

To move one cell down in a spreadsheet in MS-Excel, which of the following keys is used?
Options :

1. % Down arrow key

2. % Up arrow key

3. # Left arrow key

4. *# Right arrow key or Tab key

Question Number : 45 Question Id : 25498942483 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TIUH-TeRe (MS-Excel) & Tefic & Ua a4 ot -1t & 4 & forg fmfeifea & @ fra i (key) o1 i foram STrar 82
Options:

1. ¥ S139 @ h (Down arrow key)

2. % U QA (Up arrow key)

3. # Jue A & (Left arrow key)

4, % 33¢ W I (Right arrow key) a1 ¢q &t (Tab key)

Question Number : 46 Question Id : 25498942504 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to move up to cell A1 in MS-Excel 2019?
Options :

1. % Ctrl + Home

2. % Ctrl + Right arrow key

3. # Ctrl + End

4. # Ctrl + Left arrow key

Question Number : 46 Question Id : 25498942504 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TATE-UaTA (MS-Excel) 2019 # T A1 & STH & foly Fefeifed # & fohg et *iiéene a1 IuanT fhar ST 82
Options:

1.+ Ctrl + Home

2. % Ctrl + Right arrow key (3¢ Gt <)

3. #® Ctrl + End

4. # Ctrl + Left arrow key (dte Tt <ht)

Question Number : 47 Question Id : 25498942508 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The is that part of the CPU that controls each operation.
Options:

1. # arithmetic logic unit

2. ¥ control unit

3. ¥ memory unit

4. % output unit

Question Number : 47 Question Id : 25498942508 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

g (CPU) T g8 T &, STt Tk TR ot fifd st g1
Options:

1. % Remfea i gfAe (arithmetic logic unit)

2. ¢ gl gfAe (control unit)

3. ® #49 gfae (memory unit)

4. # 313eye gfe (output unit)

Question Number : 48 Question Id : 25498942511 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following Paste options is used to change rows to columns and columns to rows
in MS-Excel 20197

Options:

1. #* Grouping

2. ¥ Transpose
3. # Concatenate

4, = Sum

Question Number : 48 Question Id : 25498942511 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THUY-T (MS-Excel) 2019 & 3 (row) @t @ierd (column) H 3R afed (column) @bt 3 (row) H s+ & forg A
# 9 fohg U ST a1 IUAT fohat SITdT 872

Options:

1. % gftr (Grouping)

2.+ giguiet (Transpose)

3. ¥ ahi=hee (Concatenate)
4, % g7 (Sum)

Question Number : 49 Question Id : 25498942524 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to go to the Formulas tab in MS-Excel 2019?
Options :

1. % Alt+H

2. % Alt+F

3. % Alt+N

4.« Alt+ M

Question Number : 49 Question Id : 25498942524 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THUY-TeRe (MS-Excel) 2019 & Bifar &9 )R 91 & forg Ffoifea & & forg et iféane st SuaiT fopar ST g?
Options:

1. % Alt+H

2. % Alt+F

3. % Alt+N



4. ¢ Alt+ M

Question Number : 50 Question Id : 25498942528 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
is a lookup and reference function in MS-Excel 2019.
Options:
1. % TODAY()
2. % UP()
3. # LOOK()
4. ¥ VLOOKUP()

Question Number : 50 Question Id : 25498942528 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

, TATY-Tael (MS-Excel) 2019 & Teh Jehdid 3R I thakH 8
Options:

1. % TODAY()

2. % UP()

3. % LOOK()

4. ¥ VLOOKUP()

Question Number : 51 Question Id : 25498942549 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Maya wants to filter her data within a range and colour them. Which of the following functions
in MS-Excel 2019 should she use?

Options :

1. % Sort

2. * Format

3. * Filter

4. ¢+ Conditional formatting

Question Number : 51 Question Id : 25498942549 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HTAT 31U ST ahl Teh 35T oh HiaR fheer AT T8 § 3R I8 ehelR AT ATed! & | THUT-Tad (MS-Excel) 2019 & 3&
fAfefEa d @ pF-8 tharM o1 ITThT a1 anfgy?

Options:



1. ® 9ic (Sort)

2. ¥ wide (Format)

3. ¥ ftheex (Filter)

4, + &3t winte (Conditional formatting)

Question Number : 52 Question Id : 25498942553 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

_______isthe extension for an MS-Excel 2019 workbook name.
Options:

1.9 xlsx

2. % xlms

3. % xlsm

4. % excel

Question Number : 52 Question Id : 25498942553 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
,THGE-Te (MS-Excel) 2019 acheeh A9 T TeRIeH gl

Options :
1. 9 xlsx
2. % xlms
3. % xlsm
4. % excel

READING COMPREHENSION
Section Id : 2549898413
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted: 1
Section Marks : 5
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898454

Question Shuffling Allowed : No



Question Id : 25498921301 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.

Nowadays, it is not uncommon to travel to a foreign country for medical treatment. Till quite
recently the trend was to go to the West that offered the most advanced facilities. But, over the
last decade, India has become a preferred destination for medical tourism. This is due to the
building of world class medical facilities and infrastructure. Also, the cost of treatment is very
low compared to the West. Of late, Indian hospitals have gained recognition for their skilled
doctors, English speaking nurses and other medical staff, latest techniques and procedures for
treatment of various ailments have significantly added to this. Foreign patients can now avail
package deals, which include flights, hotels, local transfers, treatment and post-operative
vacation in India.

Several tour organisers now work in collaboration with hospitals to combine healthcare with
leisure and relaxation for foreign clients. A very important part of the treatment is the recovery
phase. An additional advantage that India offers in this regard is that here, along with
allopathy, patients can avail the benefits of Ayurveda, naturopathy, yoga, meditation etc. which
help speed up the healing process.

The Government of India is encouraging medical tourism in the country by offering tax
benefits to the participating hospitals. Medical visas are being cleared quickly and without any
hassles. However, medical tourism carries some risks. Patients may be exposed to infectious
diseases and mosquito-transmitted diseases. Once the patient returns to his/her country there
may be limited contact with the surgeon concerned. This may make it difficult to deal with any
complications that may arise due to delayed detection or treatment of infections.

Medical tourism in India raises some serious questions. It is very unfortunate that our Public
Healthcare system cannot extend good facilities to its own citizens. One wonders if it is
sensible to encourage medical tourism in a country like India where a vast majority of
population has no access to the benefits of private medical facilities or to basic things like good
nutrition, safe drinking water or sanitation facilities.

Sub questions

Question Number : 53 Question Id : 25498921302 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Medical tourism implies going to a foreign country for:
Options:

1. # sightseeing

2. % work

3. ¥ getting healthcare

4, = gvacation



Question Number : 54 Question Id : 25498921303 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Package deals offered to foreign patients DO NOT include:
Options :

1. # flights

2. % hotels

3. * hospitals

4. ¥ shopping

Question Number : 55 Question Id : 25498921304 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the passage, which of the following can facilitate healing?
Options:

1. # Good infrastructure

2. % Skilled doctors

3. ¥ Meditation and yoga

4. % Low cost of treatment

Question Number : 56 Question Id : 25498921305 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following can pose a risk to patients?
Options :

1. # Tour organisers

2. ¥ Delayed detection

3. * Delayed visas

4. % Poor communication

Question Number : 57 Question Id : 25498921306 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Medical tourism is under criticism because of the lack of:
Options:

1. # competent surgeons

2. % medicines

3. # English speaking nurses

4. ¥ healthcare for the masses



Question Id : 25498921301 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
feT T TEiRr @t U SR I SMYUR WR UKl & IR 2|

3reTehdl Fafehcar IT=R & g fager S 9= g1 mar 81 9t o 99 uge doh, Rifchcar Suemr o forg ufge
=M o1 ¥ e UgfT st g8 oft, Sigt Taifdes Sad gfaurg et off | Afha fose g2 8, Yra Rifdhaar wiea
& foIT Uen udidler Tided o+ a1 8| foieRt hRuT gl fay Tt Rifdhaan glaurett ok gfAand) @i o1 Iuetsy
BT 81 39k ifafh, gl uffH ol T & IUAR ! ANTd Igd A g AT & 5 Fa! alfch YR S=UdTel
3 31eT 3797 PRTet FRIfhcTant, TSt dier arelt T4t SR 3= Rifchea ST, fafea et & 3ems & forg
TNTaT dep-tenl 3R Ufeharatt & IUANT o foIU Uah fayaaiia ugam a8 g1 fadsf A sra oot el ot oft
AT 33T Uehd & oI ISM, Blee, T uRag AUy, IuaR 3R R | SRR & 918 Sl gl MHd &l

3 ¢ HTIISTeh T IdTell o A1 fAetens fadft argent o forg sraehrer 3R fasim & a1y ey d@Te &t
GfAUTS YehdTy &d 8| IUTR hl Ueh Igd ol HgcdYUl o &1 T JUR <RI 81 39 H&Y H WRA gRT Uer fohar
ST aretT SfaReh @1, Tetdeft & ary-ary ngde, Ui RAifchaar, ol ok ear anfe o Aress & It <A
e AT g, forad wRer gur &t ufehar dia gidt &1

YRd TIHR, 39 UlchdT § TgHTT SIUATA! ahl TR AT UETH ehich 1 | AfchedT Ude ot UicdTied &< 3@l 8
Rfchear diem St 3R form forelt Teprae & STRY fohd <11 <@ €1 g1etifen, Rifchcat wie & o Sifem «t anfaa
gid 81 o ATt AR Y HehHh Sital & thett aTell STATRAT & Teh | 31T Tohd 8| I o ITh 31U &7 e
& 91¢, GEfdT Tl T IganT AU IIfAd 8 GehdT & | 399 U foheal SIfeaTdTati el GHTHT heT Shidc &l Gehd
g, ST 3% T UdT e &b ShIRUT, T HehHUT & IUATR h hiRUT &l ehal &

WRd # RIfhe wied $o 1R Ut IaTaT 81 I8 9gd guiayu § foh gAY Aresi-ien Wk S@HTel HUTTelT 31—
1 ArTRaen & forg sreedt glaensi o1 fawdR 781 o Gl &1 Toh U I8 ot & o o TRa 9 321 & Sigh oret de
H raTdl oh Uy it Riferear giaearett ar Ifa ulvor, FRiSd daster a1 w=adt Sidt i) gfdensit &l ugs
qfhet & agl [fchetT e ot TicTied ohedT GHSIER! 8?2

Sub questions

Question Number : 53 Question Id : 25498921302 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fRifhcan wie = | @ foheas fag fader A et S e 82
Options :

1. % MYk gHOT

2. % ord

3. ¢ WY @A

4. % gfegi 7

Question Number : 54 Question Id : 25498921303 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fad=ft 7T et der fohg g R Gdhet diet # fm | & erar anfaer =81 giar 82
Options:

1. % gams amsn

2. % gled

3. ¥ Igdrd

4. ¢ Tl

Question Number : 55 Question Id : 25498921304 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TN & AR, 1 7 & 1 Wy YR Y YA I HhdT 872
Options:

1. % 3=t gfardl gfaard

2. % pard fAfhcgen

3. ¢ & R g

4, % IUAR hl HA AN

Question Number : 56 Question Id : 25498921305 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A # @ o1 7 ot SifEH | Sret GehdT 8?
Options:

1. ¥ Wydyah

2. ¢ SR} 1 &R T AT

3. * fcifaa e

4. ¥ TR YR

Question Number : 57 Question Id : 25498921306 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fRifehcar gdfet &t srretta= e 7 & fohg swRoT & it 872
Options:

1. % G&rH il chl ehHl

2. % carsal &Y wHt

3. ¥ S{USH dier arefl 74T chl At

4, & S o forg e gfaarai i



QUANTITATIVE APTITUDE

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Display Number Panel :
Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549898414
3

Online
Mandatory
6

6

6

Yes

0

1
2549898455
Yes

Question Number : 58 Question Id : 25498928865 Question Type : MCQ Option Shuffling :

Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What will come in place of the question mark (?) in the following number series?

435, 354, 282, 219, 165, (?)
Options:
1. % 103
2. % 112
3.94120
4. % 130

Question Number : 58 Question Id : 25498928865 Question Type : MCQ Option Shuffling :

Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fAfefed e e & usarae g (?) & WH W a=-H d@r srgt?

435, 354, 282, 219, 165, (?)
Options:
1. % 103
2. % 112
3.¥4120
4. % 130



Question Number : 59 Question Id : 25498928940 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the approximate value of the given expression? (You are not required to calculate the exact value)

(2.0001)* x (1.999)7% + (3.999)*
Options:

1. % 32

2. %16

3.% 64

4, % 512

Question Number : 59 Question Id : 25498928940 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
feU 910 SeTeh 1 ST A T £2 (319 ek AT &t 0Tl el et ATG9Tehell 1g) ¢)
(2.0001)2 x (1.999)7% = (3.999)~* =?

Options:
1. % 32

> % 16
3 = 64

4 v 512

Question Number : 60 Question Id : 25498929000 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What will come in place of the question mark (?) in the given number series?

7 B4 13 -3 22 7

Options:
1. % —7
—10

2. %



—12

—14

Question Number : 60 Question Id : 25498929000 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

& 7S e e | vy g (?) & W 0 R Smge?
78 4 13 -3 22 7?

Options:

1.% -7

2. % -10

3.% 12

4.9 -14

Question Number : 61 Question Id : 25498929113 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The average age of six children is 12 years. The average age of the first two children is 10 years
and the next two is 14 years. What is the average age of the remaining two children?

Options:

1. %* 11 years
2. ¥ 12 years
3. ®* 13 years
4. % 14 years

Question Number : 61 Question Id : 25498929113 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
g I<al i d Y 12 99 g1 Uge &l s=al <l 3 3g 10 a¥ 3R 31T &I =l <hl 31 3g 14 a9 g1
AN g sl <l YT IR T 82

Options :
1. % 11 a9
2. ¥ 1299
3. % 13 a9
4, % 1499



Question Number : 62 Question Id : 25498929450 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The marked price of a TV is ¥16,250. After allowing a discount of 20% to a customer, the
shopkeeper still makes a profit of 30%. If he sells the TV at the marked price, then his profit
percentage is:

Options :
1. % 48%
2. % 50%
3. % 56.8%
4. ¥ 62.5%

Question Number : 62 Question Id : 25498929450 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Qe &Yt T Sifehd Hed 16,250 81 UTgeh &l 20% Rl BT & & d1G Y ZhTER hl 30% ohT ATH g1 81 afe a8
&l it Sifehd Hedr TR S=IdT 8, ot IGehT A1 UfdRrd fehdHr ghm?

Options:
1. % 48%
2. % 50%
3. % 56.8%
4. ¥ 62.5%

Question Number : 63 Question Id : 25498929451 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A loan of Zx is to be refurned in two equal annual instalments each of 6,728, If the rate of interest is 16% per
annum, compounded annually, then the value of x is:

Options:
1 = 13,456

5 % 11,400
3 % 11,250

4 v %10.800



Question Number : 63 Question Id : 25498929451 Question Type : MCQ Option Shuffling :

Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TX T Teh RUT Uch €6,728 aTell &t AT dTftieh foheal | gerram STHT 81 afe Tst &R 16% a1fteh 8, Sit anftien

&Y Y Tehgfegd BIdT 8, dl X T A foha=T 872
Options :

1. % 13,456

2. % 311,400

3. % ¥11,250

4.+ %10,800

GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Display Number Panel :
Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549898415
4

Online
Mandatory
6

6

6

Yes

0

1
2549898456
Yes

Question Number : 64 Question Id : 25498910136 Question Type : MCQ Option Shuffling :

Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is

related to the first word.

Funk : Vitamins :: Curie: ?
Options:

1. % Uranium

2. ¥ Radium

3. #* Alpha radiation

4. % Photography

Question Number : 64 Question Id : 25498910136 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
39 fdehey a1 Ia- RIS St IR 2reg & I YR Heifdd @ f9d UehR gErT 216 Uge 2reg & Heifdd 31

Gheh : faerfae o : 2
Options:

1. % gfaam

2. ¥ few

3. #® 3rew fafzor
4, ® wicHTh

Question Number : 65 Question Id : 25498912912 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following question is based on the given English alphabetical series.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

If the last ten letters of the alphabet are written in the reverse order, which of the following
letters will be sixth to the right of the thirteenth letter from the left end?

Options:
1. % U
2. %V
3.% W
4, ¥ X

Question Number : 65 Question Id : 25498912912 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fafafed gy & w3 siush gufarer goft ur smenfRa &1

ABCDEFGHIJKLMNOPQRSTUVWXYZ

e guinrern & sifaw g8 31eRT &l I A forar 511y, af fA=fafEaa # & enl-ar1 18R 91¢ BR & dRed 31&R & ars 3R
ST BITT?

Options :

1.% U

2. %V

3.% W

4. ¥ X



Question Number : 66 Question Id : 25498918980 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select two words (from 1, 2, 3, 4 and A, B, C, D) related to the pair of words already given - one
word for each of the two given words.

I. : Rain :: Dam : II.

I. (1) Cloud (2) Fog  (3) Water (4) Umbrella
II. (A) Electricity (B) Flood (C)High (D) Spillway
Options:

1. % 1A

2. % 1B

3. % 3B

4.+ 4B

Question Number : 66 Question Id : 25498918980 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T 7Y 2real & g @ 9afdd (1, 2, 3, 4) 38R (A, B, C, D) & ¥ Ush-Udh 21e& bl T8 HITSIY - 3T 7Y 3 <real & & udas &
fIQ Tep 21eg ol T hifSig|

[:aRer o arer; 11

L (1)aed  (Q@ea  (3)urt  (4) s
IL(A) RSt (B)se (O3 (D) Rem

Options:
1. % 1A
2. % 1B
3. % 3B
4.+ 4B

Question Number : 67 Question Id : 25498919848 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Three of the following four words are alike in some manner and one is different. Select the
word that is different.

Options :
1. % Cow
2. % Goat
3. ¥ Donkey
4. # Buffalo



Question Number : 67 Question Id : 25498919848 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAafafaa ar =gl & @ diF foredt 7 fopeht are @ vorgw & ofR Uen S1Td 81 31T 21s¢ &l T4 hifSiy|
Options :

1. % g

2. % g

3. ¥ Ty

4. % 49

Question Number : 68 Question Id : 25498919855 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Three of the following four words are alike in some manner and one is different. Select the
word that is different.

Options:
1. * Run
2. % Walk
3. ¥ Think
4. % Jump

Question Number : 68 Question Id : 25498919855 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafad ar el & @ JiF foredt 7 fopet are T Topae § SR Ueh SIRITIA g1 31T *T6& &l 994 hifog|
Options:

1. ® g

2. % Ion

3. ¢ g

4, % e

Question Number : 69 Question Id : 25498939840 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Three of the following four words are alike in some manner and one is different. Select the
word that is different.

Options:
1. # Euphrates
2. * Huang He



3. % Amazon

4. % Brahmaputra

Question Number : 69 Question Id : 25498939840 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fafafed ar et & @ fiF foneft 7 fneY 9 @ uaham= & ofR Uk S1TTId &1 31T Qeg T II hifSiu|
Options:

1. % ghdsT (Euphrates)

2. % ging (Huang He)

3. ¢ 3mwi9 (Amazon)

4. * §gIgs (Brahmaputra)

GENERAL AWARENESS
SectionId: 2549898416
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted: 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898457
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895330 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Bailadila Mines are in the state of
Options :

1. # Odisha

2. % Tamil Nadu

3. ¢ Chhattisgarh

4., % Assam

Question Number : 70 Question Id : 2549895330 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
ERISICIREE] T A
Options:

1. # anfeam

2. #® gfaemrg

3. ¥ BaTe

4. % 3@H

Question Number : 71 Question Id : 25498912788 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As on 15 June 2024, who among the following has climbed the Everest the maximum number
of times?

Options:

1. # Ang Tharkey Sherpa
2. % Kami Rita Sherpa

3. ® Babu Chiri Sherpa
4. % Lakpa Gelu Sherpa

Question Number : 71 Question Id : 25498912788 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

15 S 2024 d, Ffafed # 4 fora aad a1fder IR gavee R 9¢rs & 8?
Options :

1. % 3T uTehi R

2.« Y A R

3. % qr R Rar

4, ® FRUT g IRUT

Question Number : 72 Question Id : 25498931999 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following organizations is the oldest in terms of foundation?
Options:

1. # International Monetary Fund

2. % World Health Organization

3. ¥ International Labour Organization

4. ® Food and Agriculture Organization



Question Number : 72 Question Id : 25498931999 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfofad 7 @ wla-a1 S, Wi 6 g & g8 QR 8?
Options :

1. # SRS qaT Iy

2. % fasy Trey GireA

3. ¢ QAN 9\ e

4. % Ere gd Ry Hire

Question Number : 73 Question Id : 25498932017 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Late Raja Ravi Verma, was an eminent figure in which of the following fields?
Options:

1. * Dance

2. % Politics

3. # History

4. ¢ Painting

Question Number : 73 Question Id : 25498932017 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tty et 3 qaf Ffofea & @ fea a9 7 ufafda afs 92
Options:

1. % 97

2. % ot

3. * sfaga

4. & RFepa

Question Number : 74 Question Id : 25498932608 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Panchayati Raj system in India is laid down under the
Options:

1. # Fundamental Rights

2. * Fundamental Duties

3. ¢ Directive Principles of State Policy



4. * Election Commission Act

Question Number : 74 Question Id : 25498932608 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IR A UIIdt TSI AR _T UG h 3idid gl
Options:

1. % Hifers sifdary

2. ¥ tifcren et

3. ¢ g Hifa & FAdsre Rgiat

4, ® ga1g T sifafaaa

Question Number : 75 Question Id : 25498935887 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An extremely hot copper wire reacts with steam to give:
Options:

1 & Cuy0

5 % Cu0,

3 % Cu,0,

4 & Cu0

Question Number : 75 Question Id : 25498935887 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TS T Teh ANfY ad dR, arsq § SrfAfehar eeh o T 872
Options:

1w Cuy0

5 % Cu0,

3 % Cu, 0,

4. &
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English Mock
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Group Id : 2549895275
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English Mock

Section Id : 2549898417
Section Number : 1

Section type: Typing Test
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Number of Questions to be attempted: 1

Section Marks : 0

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898458
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498946268 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students
with various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Group Number : 3
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Show Attended Group?: No
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Break time: 3
Mandatory Break time : Yes
Group Marks : 0

English Typing Test
Section Id : 2549898418
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted: 1
Section Marks : 0
Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898459
Question Shuffling Allowed : No
Is Section Default?: Yes

Question Number : 77 Question Id : 25498941562 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Auctions are an efficient way of raising funds through the sale of items at the best price
possible. The selling price of the item is determined through a competitive bidding
process. There are many types of auctions that exists. The distinction between these
types of auctions comes from the action of the bidders. Absolute auction means highest



bid wins. The winning bid can be as high as the bidders are willing to pay. In this type of
auction there is more money for the seller because of the competitive nature of bidding.
Competition typically heats up most intensely at absolute auctions. This happens
because bidders know that by besting a rival across the room or online. Bidding the
highest amount can result in them winning the bid. Absolute auctions typically get the
most bidding. The risk associated with an absolute auction is greater than the other
types of auctions. But the potential reward is also greater. Minimum bid Auctions begin
at a minimum price established by the seller. Bidding must begin at least at that
minimum before there can eventually be a sale. The minimum bid is published and
announced by the auctioneer at the start of bidding for that commodity. These auctions
offer a certain level of safety to the seller but are not usually as attractive to buyers as
an absolute auction. A key strategy for a minimum bid auction is for the seller to set the
minimum bid low enough to attract the interest of buyers. Setting the minimum bid too
high will discourage initial bidding. Reserve auctions allows the seller to accept or reject
or counter the winning bid. Sellers typically make this decision before the auction event
ends. This gives sellers protection so their commodities will not be sold below what they
consider acceptable. Reserve auctions typically generate the least amount of interest
among potential buyers. This is because buyers know their winning bid can ultimately be
rejected. The bidders privately submit their one best offer in a sealed bid auction. This is
generally done in writing and in a sealed envelope. The bids are opened privately by the
auctioneer and seller who do not reveal the bids to any of the participants. The seller can
take many courses of actions in this case. He can simply accept the highest or the best
bid. He can also reject all the bids. Then he calls the bidders to bid again. Sealed bid
auctions are often used for commodities that do not have a broad market or appeal.
Keeping the bids private helps ensure that if all bids are too low for any of them to be
accepted by the seller the commodity will not become stigmatized by having a perceived
low value in the marketplace. The combo auction is one in which sealed bids are sought
from bidders as the first step. If the seller does not accept the highest bid then the top
five bidders are invited to participate in live bidding on an absolute or reserve basis. This
is the second step to determine the highest bidder. For selecting the type of auction
suited best for you there are various parameters. You ought to consider your goals and
what you want to achieve from the auctions. The best fit for each may be different.
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